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1 (a) Write 73 439 to the nearest 100.
Answer (@) ..o, [1]
(b) Write two thousand and eighty four as a numerical number.
Answer (b) . [1]
(c) List all the factors of 30.
ANSWET (C)  oooeeeeeeecee e [2]
2 In August 2017, people from two towns in Namibia joined hands to form an

unbroken chain between their two towns.

The chain was 270 kilometres long.
(a) Write 270 kilometres
(i) in standard form,

Answer (@) (i) .coccovereeeeeeeeees [1]

(ii) in centimetres.

Answer (a) (ii) .........ccceeveeninnnns cm [1]

(b) If the people stood as close together as possible, so that each person
occupies 45 cm, how many people were in the chain?

Answer (b) ....ccoooeiiiiil people [2]

(c) If the people stood with outstretched arms so that there were 180 000 in the
chain, calculate the distance, in centimetres, occupied by each person.

Answer (€) ...ooooeeiiiiiiiiiiiei, cm [2]

(d) The distance, d in kilometres, of 270 kilometres was given correct to the
nearest 10 kilometres.

Complete the following statement about the distance, d.

Answer (d) .....ccccceeveeeeeen. kKms<d<... km [2]
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3 (a) Asequence formed by dots and triangles is shown below. Fxaminers

Number of triangles: 1 2 3

Number of dots: 3 4 5

Find the number of dots when there are
(i) 4 triangles,

Answer (@) (i) ..c..ooooeeeeeeennnne. dots [1]
(ii) 10 triangles,

Answer (@) (i) ...ccccccvvvvennnnnnn. dots [1]
(iii) » triangles.

Answer (@) (iii) .....cccccevvvernnnn. dots [2]

(b) Calculate the number of triangles that will be formed by 48 dots.

Answer (b) ................. triangles [1]
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4

4 Six cards are numbered as shown below.

2 13 |0] |[9] |4] |6

One or more cards are chosen to make different numbers.

For example D 5)

makes the number 35.

(a) Choosing a card or cards, write down

(i) a two-digit square number,

Answer (@) (i) «.eeeeeeereniiiiiniiis

(ii) the largest three-digit odd number,

(iii) a two-digit factor of 210

(iv) the product of 4 and 5,

Answer (@) (ii) .........coeeviiiiiiiiiinnns

Answer (@) (iii) ...........coeeerriiiinnnnn.

Answer (@) (iV) ..occooeeeeeiiiieeeees

(v) the largest one-digit prime number,

(vi) a multiple of 23.

(b) p and g are prime numbers.
p*+q=28.
Find p and q.

Answer (@) (V) «ccoooeeeeeeeiiieiee

Answer (@) (Vi) ....oooeeeeiiiiiiieeiie

Answer (b) p = ...

[1]

[1]

[1]

[1]

[1]

[1]
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5 (a) Simplify 5m-3n-2m-7n. i
ANSWET (@) .ovveeieeeiiiiiiieiieeeeeeees [2]
(b) Expand  7x(x? — 4y).
Answer (b) ..., [2]
(c) Solve the equation 2x + 3 =15 - 4x.
ANSWET (C) .evvveeiiiiiiiiiiiiiieeeees [2]
(d) Solve simultaneously
x+2y=18,
3x —2y=2.
Answer (d) X = .,
VT e [2]
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6 (a) Find the value of k.

kO
65°

NOT TO SCALE

Answer (@) k= ..o ° [1]

(b) Find the value of / and m.

& NOT TO SCALE
50°

l° m
Answer(b)/ = ...l ° [1]
= e ° [2]

(c) Find the value of n.
NOT TO SCALE
40°
ANSWEr (C) 11 = wovviveeeieeeeeeeeeeeeeee ° [1]
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7

7 The diagram shows three different sized packets of sugar together with the price

of each.
C
B @
A @ -
- X |SUGAR Ny
SUGAR | = ~ 2.5 kg
- :
500 g 1 kg
N$6.34 N$10.20 N$24.98

(a) Convert 500 g to kilograms.

Answer (@).......ccccceeeeeeeiiinns

(b) Work out the price per kilogram for packet A and C.

Answer (b) ANS.................

(c) Which packet has the best value for money?

ANnswer (C) ......oovvvvvueeeeennnn.
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Rachel, Peter and John are partners in a business and decide to share the profit
from the business in the ration 4 : 3 : 5 respectively. The business makes a profit
of N$240 000.

(@) Write the profit that John receives as a fraction, in its simplest form, of the
total profit of the business.

Answer (@) .....cccvviiieeeennnn.

(b) Calculate the amount of money that Peter will receive.

Answer (b) N$ ..........ccc.o.e..
(c) Express N$30 000 as a percentage of the total profit.

ANSWEr (C) evvveeiiiiiiiiiiiieeeeeeeee, %

(d) Rachel receives a profit of N$80 000.
(i) She uses % of the profit for her studies.

Calculate the amount she used for her studies.

Answer (d) (i) N$ ...............

(ii) Rachel invests N$50 000 of her profit at 12% compound interest
per year.

Calculate the profit made from this investment after 2 years.

Answer (d) (i) NS .......ccoeoeirenenne

[1]

[2]

[2]

[1]

[3]
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9 Learners in a school were asked to choose their favourite milkshake flavour. o

The pie chart below shows the results.

NOT TO SCALE

chocolate

vanilla 162°
60° ||

strawberry

banana

(a) Calculate the angle which represents vanilla flavour.

Answer (@) ....cooooeeeeeeeiiiieieee, [1]

(b) Write down the fraction of the learners who chose the banana flavour.

Answer (b) ... [2]

(c) 30 of the learners chose strawberry flavour.
Calculate the total number of learners in the school.

ANnswer (€) ....ccceeeeeeeeeeeeennn. learners [3]

(d) Write down the modal flavour.

Answer (d) ....ccooeeeiiiiiiiiiii, [1]
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10 The distance between Windhoek and Katima Mulilo is 1 200 km.

(a)

(b)

(c)

An aeroplane left Windhoek at 06:55 and arrived in Katima Mulilo at 09:10.
How long did the flight take?

Answer (@) .............. h o, min

A bus leaves Windhoek on Thursday at 06:20 and arrives in Katima Mulilo
15 hours and 30 minutes later.

At what time did the bus arrive in Katima Mulilo?

Answer (b) ...

The bus fare for people travelling from Windhoek to Katima Mulilo is N$400
per person.

Children under 12 years of age pay half the price.

Mr Muluti, his wife and two children, aged 13 and 9, travel from Windhoek to
Katima Mulilo by bus.

Calculate the total price Mr Muluti has to pay for his family for the bus fare.

Answer (C) N$ ......ccoooovviiieeee,

[1]

[1]
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For
11 The graph below shows a return journey by car from Gobabis to Windhoek. Fxaminers
Wlndhoek 200 ...................................................................
150]~
=
=
2
§ 100 |-
@)
Gobabisoo— -~ + - ¢ 0 LN
08:00 09:00 10:00 11:00 12:00 13:00 14:00
Time
(a) How faris it from Gobabis to Witvlei?
Answer (@) ......coeeeeeeeeiiiiiiiin, km [1]
(b) How long did the car stop in Witvlei?
Answer (b) .....cccooviiinnnn. minutes [1]
(c) At what time did the car arrive in Windhoek?
ANswer (€) ..o 1 i [1]
(d) Calculate the average speed of the car from Windhoek to Gobabis.
Answer (d) ..., km/h [2]
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12 The diagram below shows the design of a rectangular garden ABCD.

4 D NOT TO SCALE

(a) Calculate the area of
(i) the circular swimming pool,

Answer (@) (i) ..ovveeeeeeeeniiiinnennnnn.
(ii) the flower bed.

Answer (@) (ii)....ccccocvvniinnnnnnnnn.

(b) Find the area of the whole garden.

Answer (b) ..o
(c) The shaded area is for the lawn.

Calculate the area covered by the lawn.

ANSWEr (C) ..ecceeeeiieeeeeeiiiieeeee,

[2]

[2]

[2]

[2]
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For
13 The diagram shows shapes 4, B and C. Fxaminers
Jéu
4
B A
2
-6 4 2 0 7 4 6 x
C
-4

(a) Describe fully the single transformation that maps
(i) A4 onto B,

ANSWET (@) (1) -oooeeeeeeeie e [2]
(ii) 4 onto C.

Answer (a) (ii)

................................................................................... [3]
(b) On the grid, draw accurately
-4
(i) the translation of 4 by the vector <3> . Label the image D. [2]
(ii) an enlargement of 4 with a centre of (0,1) and a scale factor of 2.
Label the image F. [2]
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14 A packet of colouring chalks contains 30 yellow chalks, 22 green chalks and Examiner's

U.
28 red chalks. A teacher takes one colouring chalk from the packet at random. >
(a) Write down the colour of the chalk that the teacher is most likely to take.

ANSWET (@) ..vvveeeeieiiiiiiiiiieeeeeeees [1]
(b) Write down the probability that a teacher takes a

(i) red,

Answer (b) (i) ......ooooeeeiiiii [1]
(ii) blue,

Answer (b) (i) ...ccoovvveiiiiiis [1]
(iii) not a green coloured chalk.

Answer (b) (iii)......ccccceeeeriinnnns [2]

(c) On the probability scale below, indicate with an arrow to show the probability
that a teacher's chalk is yellow.

4324/3/18
826210



15

BLANK PAGE

4324/3/18
826210



16

BLANK PAGE

4324/3/18
826210



